
APPOLO STUDY CENTRE 
GROUP IV MODEL EXAM – II 

APTITUDE & MENTAL ABILITY STEP WISE SOLVED 
 

1. The standard deviation of 10 observations is 15. If 5 is added to each observations the 
value of new standard deviation is---------  
A. 20  B. 15  C. 65  D. 200 
10 kjpg;Gfspd; jpl;l tpyf;fk;> 15> xt;nthU kjpg;GlDk; 5If; $l;l fpilf;Fk; 

kjpg;Gfspd; jpl;l tpyf;fkhdJ _______ 
A. 20  B. 15  C. 65  D. 200 

  Explanation: 
The standard deviation of a distribution remains unchanged when each value is 
Added or Subtracted by the same quantity. 

 
 

2. The sum of all two digit even number is  
A. 2475   B. 2430  C. 4905   D. 1215 
<hpyf;f ,ul;ilg;gil vz;fspd; $Ljy; fhz;f 

A. 2475   B. 2430  C. 4905   D. 1215 
  Explanation: 

  S = 10 + 12 + ... + 98  
= 2(5 + 6 + ... + 49)  
= 2([1 + 2 + 3 + 4 + 5 + 6 + .. + 49] - [1 + 2 + 3 + 4])  
= 2(49(50)/2 - 4(5)/2)  
= 49(50) - 4(5)   
= 2450 - 20   
= 2430 
 

3.  

Sector  Agriculture Manufacturing Services 

Revenue collection  22% 40% 38% 

When represented in a pie diagram, the angle that represents manufacturing is      
A. 72˚    B. 96˚    C. 144˚   D. 216˚ 
njhFjp : tptrhak;  cw;gj;jpahsh;fs; Nrit 
thp t#y;: 22% 40%  38% 

  tl;l tpsf;fg;glj;jpd; %yk; ,jid Fwpf;Fk; NghJ cw;gj;jpahshpd; Nfhzk; 

A. 72˚    B. 96˚    C. 144˚   D. 216˚ 
 Explanation: 

 
40

360 144
100

× ° = °  

  
 
 
 
 



 
4. The product of two positive numbers is 120 and the sum of their squares is 289.  The sum 

of the number is  
A. 20    B. 23   C. 169   D. 26 
,uz;L vz;fspd; ngUf;fw;gyd; 120 kw;Wk; mt;tpuz;L vz;fspd; th;f;fq;fspd; $Ljy; 
289 vdpy; mt;tpuz;L vz;fspd; $Ljy; fhz;f 

A. 20    B. 23   C. 169   D. 26 
               Explanation: 
 

   
 

5. If 2 + 3 = 10 ; 8 + 4 = 96 ; 7 + 2 = 63 ; 6 + 5 = 66 then 9 + 3 = ? 
A. 208   B. 108  C. 12   D. 93 
2 + 3 = 10 ; 8 + 4 = 96 ; 7 + 2 = 63 ; 6 + 5 = 66 vdpy; 9 + 3 = ?  
A. 208   B. 108  C. 12   D. 93 

               Explanation: 

  ( )2
a a b+ ×  ( )29 9 3 108⇒ + × =  

 
6. Find out compound interest on 16,000 at 15% per annum, compounded yearly for 3 

years. 
A.   Rs.7200          B.   Rs.9000          C.   Rs.8343           D.   Rs.8334 
&.16>000f;F> Mz;Lf;F 15 rjtPjk; vd;w tPjj;jpy; 3 Mz;LfSf;fhd $l;L tl;biaf; 
fz;Lgpbf;fTk;?     

A.   Rs.7200          B.   Rs.9000          C.   Rs.8343           D.   Rs.8334 
               Explanation: 

115 115 115
16000 Amount 24334

100 100 100

C.I 24334-16000=8334

× × × ⇒ =

=

 

 
7. Deepan invests a certain sum at 20% per annum simple interest. In how many years it 

will become six times? 
A.   18 years         B.  20 years        C.  25 years          D.  30 years 
jPgd; vd;gth; Mz;Lf;F 20 rjtPj jdptl;bapy; xU njhifia KjyPL nra;jhh;. 
vj;jid Mz;LfSf;F gpwF mj;njhif 6 klq;fhFk;? 

A. 18 Mz;Lfs;  B. 20 Mz;Lfs;    

C. 25 Mz;Lfs;  D. 30 Mz;Lfs; 
               Explanation: 

Let   P=100  then  Amount=600.  S.I=500.  R=20%.  N=? 
100 20

500 25
100

N
N years

× ×
= ⇒ =  

 



8. 14 men can complete a work in 12 days. 4 days after they had started the work, 2 more 
men joined them. Calculate the number of days they might take to finish the remaining 
work? 
A. 7 days              B. 9 days              C.   15 days             D.   14 days 
14 Ngh; xU Ntiyia 12 ehl;fspy; nra;J Kbf;f KbAk;.  mth;fs; gzpia 
njhlq;fpa 4 ehl;fs; fopj;J> NkYk; 2 Ngh; mth;fSld; Nrh;e;J nfhz;ldh;.  kPjpAs;s 
Ntiyia mth;fs; nra;J Kbf;f Njitg;gLk; ehl;fisf; fzf;fplTk;? 

A. 7 ehl;fs;  B. 9 ehl;fs;  C. 15 ehl;fs;  D. 14 ehl;fs; 
               Explanation: 
  14 Men complete remaining work in 12 – 4 = 8 days. 
  16 Men complete same work in ?   days 

  
14 8

7 days
16

×
⇒ =  

 

9. A and B can do a piece of work in 10 days; B and C in 15 days; C and A in 18 days. In 
how many days B alone do it?    
A. 30 days  B. 20 days  C. 12 days   D. 18 days 
A kw;Wk; B xU Ntiyia 10 ehl;fspYk;> B kw;Wk; C mNj Ntiyia 15 ehl;fspYk; 
C kw;Wk; A mNj Ntiyia 18 ehl;fspYk; Kbg;gh; vdpy;> B jdpNa mt;Ntiyia 
vt;tsT ehl;fspy; Kbg;ghh;? 

A. 30 ehl;fs;  B. 20 ehl;fs; C. 12 ehl;fs;  D. 18 ehl;fs18 ehl;fs18 ehl;fs18 ehl;fs; 

               Explanation: 

 
[ ]

[ ]

1 1 1 9 6 5 20 2
2 A+B+C 's 1day work =

10 15 18 90 90 9

1
A+B+C 's 1day work=

9

+ +
+ + ⇒ = =

 

 B alone = [ ] [ ]
1 1 1

A+B+C 's 1day work- A+C ' 1
9 18 18

s day work = − =  

  
10. One side of a right-angled triangle is twice the other, and the hypotenuse is 10 cm. 

Compute the area of the triangle 
A. 60 cm2              B. 40 cm2             C. 20 cm2              D. 10 cm2 

xU nrq;Nfhz Kf;Nfhzj;jpy; xU gf;f msthdJ kw;w gf;fj;ij Nghy; ,uz;L 
klq;F. mjd; fh;z msT 10 nr.kP vdpy; gug;gsT fhz;f 
A. 60 r.nrkP        B. 40 r.nrkP             C. 20 r.nrkP              D. 10 r.nrkP 

       

 



11. If the volume and the base area of a right circular cone are 48 π  cm3 and 12π  cm2 
respectively, then the height of the cone is equal to  
A. 6 cm    B. 8 cm  C. 10 cm   D. 12 cm  
xU Neh; tl;lf; $k;gpd; fd msT kw;Wk; mbg;gf;fg; gug;G KiwNa 48π nr.kP3 kw;Wk;  

12π nr.kP2 vdpy;> mjd; cauk; 

A. 6 nr.kP  B. 8 nr.kP  C. 10 nr.kP  D.    12 nr.kP12 nr.kP12 nr.kP12 nr.kP    
        

base area[mbg;gf;fg; gug;G]= 2
rπ =12π  

Volume [fd msT] = 21
48

3
r hπ π=   

      
1

12 48 12
3

h h cmπ π× × = ⇒ =  

 
12. Find out the wrong number in the sequence. 

2, 9, 28, 65, 126, 216, 344 
A. 2  B. 28  C. 65  D. 216 
gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 

2, 9, 28, 65, 126, 216, 344 
A. 2  B. 28  C. 65  D. 216 
Explanation:  

( ) ( ) ( )3 3 3 3 3 3 3(1) 1, (2) 1, (3) 1, (4) 1, 5 1, 6 1, 7 1+ + + + + + +  

Wrong Number = 216. 
 

13. One-fifth of Ram’s expenses is equal to one-third of his savings. If his monthly income is 
` 3,200, what is his savings? 
A. `̀̀̀ 1200  B. ` 1600  C. ` 1800  D. ` 2000 
,uhkpd; Ie;jpy; xU gq;F nrythdJ> mtUila Nrkpg;gpd; %d;wpy; xU gq;Ff;F 

rkkhFk;.  mtUila khjhe;jpu tUkhdk; ` 3>200 vdpy;> mtUila Nrkpg;G vt;tsT? 
A. `̀̀̀ 1200  B. ` 1600  C. ` 1800  D. ` 2000 
Explanation: 

 
 

14. A father is 3 times as old as his son. 5 years back he was four times as old as his son. 
What is the age of the son now? 
A. 12  B. 15  C. 18  D. 21 
xU je;ijapd; taJ mtUila kfdpd; taijg; Nghy; 3 klq;F> 5 tUlj;jpw;F Kd;G> 
je;ijapd; taJ kfdpd; taijg; Nghy; 4 klq;F vdpy; kfdpd; jw;Nghija taJ 
vd;d? 
A. 12  B. 15  C. 18  D. 21 
Explanation: 
Let son's age be x then father's age is 3x 
Five years ago, father's age = 3x-5 and son's age x-5 
So, 3x-5 = 4(x-5) 
=> 3x-5 = 4x-20 
=> x = 15 
 



15. The GCD of 2 22x xy y− +  and 4 4x y−  is   

A. 1   B. x y+  C.  x y−   D. 2 2x y−  
2 22x xy y− +  kw;Wk; 4 4

x y−  Mfpatw;wpd; kP.ngh.t 

A. 1   B. x y+  C.  x y−   D. 2 2x y−  

Explanation: 

( )
22 22x xy y x y− + = −  

( ) ( ) ( )( )( )4 4 2 2 2 2 2 2x y x y x y x y x y x y− = − + ⇒ + − +  

HCF[kP.ngh.t]= x y−  

 
16. Area of the quadrilateral formed by the points (1, 1), (0, 1), (0, 0) and (1, 0) is  

A. 3 sq. units    B. 2 sq. units  
C. 4 sq. units    D. 1 sq. units 
(1, 1), (0, 1), (0, 0), (1, 0) Mfpa Gs;spfshy; mikAk; ehw;fuj;jpd; gug;G  
A. 3 r.myFfs;    B. 2 r.myFfs; 
C. 4 r. myFfs;    D.    1 r. myFfs;1 r. myFfs;1 r. myFfs;1 r. myFfs;    

Explanation: 

Area of a quadrilateral    ehw;fuj;jpd; gug;G ehw;fuj;jpd; gug;G ehw;fuj;jpd; gug;G ehw;fuj;jpd; gug;G  

 
1 2 2 3 3 4 4 1 2 1 3 2 4 3 1 4

1
{( ) ( )}

2
x y x y x y x y x y x y x y x y= + + + − + + + sq.units / r. myFfs; 

 
( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ){ }

1
1 1 0 0 0 0 1 1 0 1 0 1 1 0 1 0

2

1
2 1

2

= × + × + × + × − × + × + × + ×      

= × =

 

 
17. If HCF and LCM of two numbers are 12 and 144 respectively. If one number is 36, the 

other number is  
A. 96  B. 48  C. 72   D. 24  
,U vz;fspd; kPg;ngU nghJ fhuzp kw;wk; kPr;rpW nghJ klq;F KiwNa 12> 144 
mt;tpU vz;fspy; xU vz; 36 vdpy; kw;nwhU vz; 
A. 96  B. 48  C. 72   D. 24  
Explanation: 

12 144
Other Number= 48

36

×
=  

 
18. The perimeters of five squares are 24cm, 32cm, 40cm, 76cm and 80cm respectively. Find 

out the perimeter of another square equal in area to the sum of areas of these squares. 
A. 961cm              B. 31cm                C. 124 cm             D. 248 cm 
Ie;J rJuq;fspd; Rw;wsTfs; KiwNa 24 nrkP> 32 nrkP> 40 nrkP> 76 nrkP kw;Wk; 80 
nrkP MFk;.  ,e;j Ie;J rJuq;fspd; nkhj;j gug;gsTf;Fr; rkkhd gug;gsT nfhz;l 
xU rJuj;jpd; Rw;wsitf; fz;Lgpbf;fTk;. 
A. 961 nr.kP             B. 31 nr.kP              C. 124 nr.kP            D. 248 nr.kP 
Explanation: 
Clearly first we need to find the areas of the given squares, for that we need its side. 
Side of sqaure = Perimeter/4 
 
 



 
So sides are, 

 
 

19. Find the missing term marked by question mark in  
M3V, O5U, R7T, T9S, W11R     ? 
A. Y13Q  B. Z13Q  C. Y13P  D. Y15Q 
Nfs;tpf;Fwpapl;l ,lj;jpy; tuNtz;ba thpiriaf; fhz; 
M3V, O5U, R7T, T9S, W11R     ? 
A. Y13Q  B. Z13Q  C. Y13P  D. Y15Q 
Explanation: 
Y13Q 

 
20. If A’s height is 25% less than that of B, then how much percent is B’s height more than 

that of A?       
A. 50%   B. 45%  C. 22 1/3%  D. 33 1/3% 
A-apd; caukhdJ B-apd; cauj;jpy; 25% Fiwthf cs;sJ vdpy; B-apd; cauk; A-
apd; cauj;jpy; vt;tsT rjtPjk; mjpfkhf cs;sJ? 

A. 50%   B. 45%  C. 22 1/3%  D. 33 1/3% 
Explanation: 
100 25 100 25 1

33 %
100 25 75 3

× ×
⇒ =

−
 

 
21. If A is 80% of B and B is 20% of C, then what percent of A is C?  

A. 200  B. 600   C. 500   D. 625 

A vd;gJ B-d; kjpg;gpy; 80% kw;Wk; B vd;gJ C-d; kjpg;gpy; 20% vdpy; A-d; kjpg;gpy; 
C-d; rjtPjk; ahJ? 
A. 200  B. 600   C. 500   D. 625 
Explanation: 

 
80 20 4

100 100 25

A B

B C
× = × =  

 A-d; kjpg;gpy; C-d; rjtPjk; 
25

100 625%
4

= × =  

 
 
 
 



22. If 2 2x y x y⊕ = + , what is the value of p if ( )4 3 50p⊕ ⊕ = ? 

A. 4   B. 7   C. 8   D. 12.5 
2 2x y x y⊕ = +  vdpy; ( )4 3 50p⊕ ⊕ = vd;gjpy; p-d; kjpg;G ahJ? 

A. 4   B. 7   C. 8   D. 12.5 
Explanation: 

 
 

23. 
( ) ( )

2 2
856 167 856 167

?
856 856 167 167

+ + −
=

× + ×
 

A. 1   B. 2   C. 689  D. 1023 

kjpg;G fhz;: 
( ) ( )

2 2
856 167 856 167

?
856 856 167 167

+ + −
=

× + ×  
A. 1   B. 2   C. 689  D. 1023 
Explanation: 

( ) ( )
2 2 2 22 2 2 2

2 2 2 2 2 2

22 2
2

a ba b a b a b ab a b ab

a b a b a b

 ++ + − + + + + −  ⇒ ⇒ =
+ + +

 

 
24. A class starts at 10 A.M and lasts till 1.27 P.M. Four periods are held during this interval. 

After every period, 5 minutes are given free to the students. The exact duration of each 
period is                
A. 42 minutes    B. 48 minutes   C. 51 minutes  D. 53 minutes 
xU tFg;G 10 A.M  f;F njhlq;fp 1.27 P.M . f;F KbfpwJ.ghlq;fs; ehd;F rk 
gPhpaLfshf elj;jg;gl;L xt;nthU gPhpaLfspd; Kbtpy; 5  epkplq;fs; khzth;fSf;F 
Xa;T jug;gLfpwJ vdpy; xU gPhpabd; fhy msT vd;d? 

A. 42 epkplq;fs; B. 48 epkplq;fs;  C. 51 epkplq;fs; D. 53 epkplq;fs; 

   
25. If a2 > b2 then which of following is true?  

A. a > b   B. a < b  C. a = b   D. a > b or a < b  
a2 > b2  vdpy; gpd;tUtdtw;Ws; kpfr;rhpahdJ vJ?  
A.  a > b  B. a < b  C. a = b   D. a > b my;yJ a < b   
Explanation: 
If a is positive: a > b  then a2 > b2  is correct. 
If a is negative: a < b   then  a2 > b2 is correct. 

  ∴ a > b or a < b 
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